Precalculus Name ID: 1

Assignment Date Period

For each problem, find the average rate of change of the function over the given interval.

2 .
D () =x2-1; [2,31 2) f() = +x+1; [-3,0]

3) flx)=2x2+2x-2; [-1,1] 4) f(x)=2x*+2x+2; [0,1]
2 2 2 3
5) flx)=-2x2+1; [-1, ‘§] 6) flx)=2x*+x+1; [1,51
2 3 2 7
7 flx)=2x+x+1; [-1, -7 8) flx)=-x2+2x+1; [-2, -]
9) flx)=x?-2x+1; [1,2] 10) f(x)=-2x2+2x+2; [0,2]

1) f(x)=2x%+1; [0,;

—

12) f(x)=2x2+2x-1; [O, %]



13) f(x)=x2-2x-2; [0,2] 14) f(x)=x?+2x+2; [-2,1]

15) f(x)=x*+2x+2; [-3, -g] 16) f(x)=2x*+1; [-1, -%]

_ 9y 40
17) f(x) = 2% + x - 1; [0,%] 18) f(x)=2x*+2; [0,1]

_ 92 o
19) f(x) = =x? + x +2; [3,%] 20) f(x)=2x>+2x-1; [-1,1]

Sketch the graph of each function.
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